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RTPs QUESTIONS

Q! (Nov. 13)

U Ltd. is a large conglomerate with a number of subsidiaries. It is preparing consolidated financial statements

as on 3lst March 2018 as per the notified Ind AS. The financial statements are due to be authorised for issue

on 1Sth May 2018. It is seeking your assistance for some transactions that have taken place in some of its

subsidiaries during the year.

G Ltd. is a wholly owned subsidiary of U Ltd. engaged in management consultancy services. On 3lst January

2018, the board of directors of U Ltd. decided to discontinue the business of G Ltd. from 30th April 2013.

They made a public announcement of their decision on 1Sth February 2013.

G Ltd. does not have many assets or liabilities and it is estimated that the outstanding trade receivables and

payables would be settled by 3lst May 2018. U Ltd. would collect any amounts still owed by G Ltd’s

customers after 3lst May 2018. They have offered the employees of G Ltd. termination payments or
alternative employment opportunities.

Following are some of the details relating to 6 Ltd.:

71 On the date of public announcement, it is estimated by G Ltd. that it would have to pay $40 lakhs as
termination payments to employees and the costs for relocation of employees who would remain with the
Group would be Rs. 60 lakhs. The actual termination payments totalling to RsS20 lakhs were made in full
on I1Sth May 2018. As per latest estimates made on 1Sth May 2018, the total relocation cost is RS63 lakhs.

71 G Ltd. had taken a property on operating lease, which was expiring on 3lst March 2022. The present value
of the future lease rentals (using an appropriate discount rate) is Rs430 lakhs. On I1Sth May 2018, 6 Ltd.
made a payment to the lessor of Rs4l0 lakhs in return for early termination of the lease.

The loss after tax of G Ltd. for the year ended 3lst March 2018 was Rs400 lakhs. G Ltd. made further
operating losses totalingRs60 lakhs till 30th April 2018.

How should U Ltd. present the decision to discontinue the business of G Ltd. in its consolidated statement of

comprehens;ve income as per Ind AS?
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What are the provisions that the Company is required to make as per Ind AS 37?7
Solution

A discontinued operation is one that is discontinued in the period or classified as held for sale at the year-

end. The operations of G Ltd were discontinued on 30th April 2018 and therefore, would be treated as

discontinued operation for the year ending 3lst March 2019. It does not meet the criteria for holding for sale

since the company is terminating its business and does not hold these for sale.

Accordingly, the results of G Ltd will be included on a line-by-line basis in the consolidated statement of

comprehensive income as part of the profit from continuing operations of U Ltd for the year ending 3lst

March 20138.

As per Ind AS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’, restructuring includes sale or

termination of a line of business. A constructive obligation to restructure arises when:

(a) an entity has a detailed formal plan for the restructuring

(b) Has raised a valid expectation in those affected that it will carry out the restructuring by starting to
implement that plan or announcing its main features to those affected by it.

The Board of directors of U Ltd have decided to terminate the operations of G Ltd. from 30th April 20138.

They have made a formal announcement on 1Sth February 2018, thus creating a valid expectation that the

termination will be implemented. This creates a constructive obligation on the company and requires provisions

for restructuring.

A restructuring provision includes only the direct expenditures arising from the restructuring that are

necessarily entailed by the restructuring and are not associated with the ongoing activities of the entity.

The termination payments fulfil the above condition. As per Ind AS 10 ‘Events after Reporting Date’, events

that provide additional evidence of conditions existing at the reporting date should be reflected in the financial

statements. Therefore, the company should make a provision for RsS20 lakhs in this respect.

The relocation costs relate to the future conduct of the business and are not liabilities for restructuring at the

end of the reporting period. Hence, these would be recognised on the same basis as if they arose

independently of a restructuring.

The operating lease would be regarded as an onerous contract. A provision would be made at the lower of the

cost of fulfilling it and any compensation or penalties arising from failure to fulfil it. Hence, a provision shall

be made for Rs4l0 lakhs.

Further operating losses relate to future events and do not form a part of the closure provision.

Therefore, the total provision required = Rs§20 lakhs + Rs4l0 lakhs = Rs330 lakhs

Note: Various issues related to the applicability of Ind AS /| implementations under Companies (Indian

Accounting Standards) Rules, 201S, are being raised by preparers, users and other stakeholders. Although many

clarifications have been issued by way of ITFG Bulletins or EAC Opinion, still issues are arising on account of

varying interpretations on several of its guidance. Therefore, alternate answers may be possible for the above

guestions based on standards, depending upon the view taken.

Q2 (Nov. 19)

(a) A manufacturer gives warranties at the time of sale to purchasers of its product. Under the terms of the

contract for sale, the manufacturer undertakes to remedy, by repair or replacement, manufacturing defects

that become apparent within three years from the date of sale. As this is the first year that the warranty

has been available, there is no data from the firm to indicate whether there will be a claim under the
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warranties. However, industry research suggests that it is likely that such claims will be forthcoming.
Should the manufacturer recognize a provision in accordance with the requirements of Ind AS 37. Why or
why not?

(b) Assume that the firm has not been operating its warranty for five years, and reliable data exists to
suggest the following:

e If minor defects occur in all products sold, repair costs of Rs 20,00,000 would result.

o |f major defects are detected in all products, costs of Rs §0,00,000 would result.

e The manufacturer’s past experience and future expectations indicate that each year 80% of the goods
sold will have no defects. 15% of the goods sold will have minor defects, and $% of the goods sold
will have major defects.

Calculate the expected value of the cost of repairs in accordance with the requirements of Ind AS 37, if any.

Ignore both income tax and the effect of discounting.

Solution
(a) For a provision to be recognized, Ind AS 37 reguires that:

i) an entity has a present obligation (legal or constructive) as a result of a past event;

i) it is probable that an outflow of resources embodying economic benefits will required to settle the

obligation, and

ili) a reliable estimate can be made of the amount of the obligation.
Here, the manufacturer has a present legal obligation. The obligation event is the sale of the product with a
warranty.
Ind AS 37 outlines that the future sacrifice of economic benefits is probable when it is more likely than less
likely that the future sacrifice of economic benefits will be required. The probability that settlement will be
required will be determined by considering the class of obligation (warranties) as a whole. In accordance with
Ind AS 37, it is more likely than less likely that a future sacrifice of economic benefits will be required to
settle the class of obligations as a whole.
If a reliable estimate can be made the provision can be measured reliably. Past data can provide reliable
measures, even if the data is not firm specific but rather industry based. Ind AS 37 notes that only in
extremely rare cases, a reliable measure of a provision cannot be obtained. Difficulty in estimating the amount
of a provision under conditions of significant uncertainty does not justify non-recognition of the provision.
Here, the manufacturer should recognize a provision based on the best estimate of the consideration required

to settle the present obligation as at the reporting date.

(b) The expected value of cost of repairs in accordance with Ind AS 37 is:
(30% x nil) + (IS% x Rs 20,00,000) + (5% x Rs $0,00,000) = 3,00,000 + 2,50,000 = $,50,000

Q3 (May 20)

Entity XY2 entered into a contract to supply 1000 television sets for Rs 2 million. An increase in the cost of

inputs has resulted in an increase in the cost of sales to Rs 2.5 million. The penalty for non- performance of
the contract is expected to be Rs 0.25 million. Is the contract onerous and how much provision in this regard
is required?

Solution
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Ind AS 37 “Provisions, Contingent Liabilities and Contingent Assets” defines an onerous contract as “a
contract in which the unavoidable costs of meeting the obligations under the contract exceed the economic
benefits expected to be received under it”.

Ind AS 37 states that “the unavoidable costs under a contract reflect the least net cost of exiting from the
contract, which is the lower of the cost of fulfilling it and any compensation or penalties arising from failure
to fulfill it”.

In the instant case, the cost of fulfilling the contract is Rs 0.5 million (Rs 2.5 million — Rs 2 wmillion) and
the cost of exiting from the contract by paying a penalty is Rs 0.25 million. In accordance with the above
reproduced paragraph, it is an onerous contract as the cost of meeting the contract exceeds the economic
benefits.

Therefore, the provision should be recognised at the best estimate of the unavoidable cost, which is lower of
the cost of fulfilling it and any compensation or penalties arising from failure to fulfill it, ie. at Rs 0.25
million (lower of Rs 0.2 million and Rs 0.5 million).

Q4 (May 20)

A company manufacturing and supplying process control equipment is entitled to duty drawback if it exceeds

its turnover above a specified limit. To claim duty drawback, the company needs to file an application within
IS days of meeting the specified turnover. If application is not filed within stipulated time, the Department
has discretionary power of giving duty drawback credit. For the year 20X1-20X2 the company has exceeded
the specified limit of turnover by the end of the reporting period. However, duty drawback can be claimed on
filing of application within the stipulated time or on discretion of the Department if filing of application is
late. The application for duty drawback is filed on April 20, 20X2, which is after the stipulated time of 1S
days of meeting the turnover condition. Duty drawback has been credited by the Department on June 238,
20X2 and financial statements have been approved by the Board of Directors of the company on July 26,
20X2. What would be the treatment of duty drawback credit as per the given information?

Solution

In the instant case, the condition of exceeding the specified turnover was met at the end of the reporting
period and the company was entitled for the duty drawback. However, the application for the same has been
filed after the stipulated time. Therefore, credit of duty drawback was discretionary in the hands of the
Department. Since the claim was to be accrued only after filing of application, its accrual will be considered in
the year 20X2-20X3 only.

Accordingly, the duty drawback credit is a contingent asset as at the end of the reporting period 20X1-20X2,
which will be realised when the Department credits the same.

As per Ind AS 37, Provisions, Contingent Liabilities and Contingent Assets, contingent assets are assessed
continually to ensure that developments are appropriately reflected in the financial statements. If it has
become virtually certain that an inflow of economic benefits will arise, the asset and the related income are
recognised in the financial statements of the period in which the change occurs. If an inflow of economic
benefits has become probable, an entity discloses the contingent asset.

In accordance with the above, the duty drawback credit which was a contingent asset for the F.Y. 20X]-20X2
should be recognised as an asset and related income should be recognized in the reporting period in which the

change occurs. i.e., in the period in which realisation becomes virtually certain, ie., F.Y. 20X2 - 20X3.
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Qs (May 21)

A manufacturer gives warranties to the purchasers of its goods. Under the terms of the warranty, the

manufacturer undertakes to make good, by repair or replacement, manufacturing defects that become apparent
within three years from the date of sale to the purchasers.

On 30 April 20X1, a manufacturing defect was detected in the goods manufactured by the entity between |
March 20X] and 30 April 20XI.

At 3] March 20X] (the entity’s reporting date), the entity held approximately one weel’s sales in inventories.
The entity’s financial statements for the year ended 31 March 20X have not yet been finalised.

Three separate categories of goods require separate consideration:

Category | — defective goods sold on or before 31 March 20XI

Category 2 — defective goods held on 3] March 20XI

Category 3 — defective goods manufactured in 20X]1-20X2

State the accounting treatment of the above categories in accordance with relevant Ind AS.

Solution

Category |—defective goods sold on or before 31 March 20X]

If a customer has the option to purchase a warranty separately, the warranty is a distinct service because the
entity promises to provide the service to the customer in addition to the product that has the functionality
described in the contract. In that case, the entity shall account for the promised warranty as a performance
obligation and allocate a portion of the transaction price to that performance obligation.

If a customer does not have the option to purchase a warranty separately, an entity shall account for the
warranty in accordance with Ind AS 37, Provisions, Contingent Liabilities and Contingent Assets, unless it
provides the customer with a service in addition to the assurance that the product complies with agreed-upon
specifications. If that is the case, then, the promised service is a performance obligation. Entity shall allocate
the transaction price to the product and the service.

If an entity promises both an assurance-type warranty and a service-type warranty but cannot reasonably
account for them separately, the entity shall account for both of the warranties together as a single
performance obligation.

A law that requires an entity to pay compensation if its products cause harm or damage does not give rise to
a performance obligation. The entity shall account for such obligations in accordance with Ind AS 37

Category 2—defective goods held on 31 March 20XI

At 31 March 20X| the entity did not have a present obligation to make any defective goods that it might
manufacture in the future. Accordingly, at 31 March 20X| the entity should not recognise a provision in
respect of the defective inventories.

For this category, the detection of the manufacturing defect in April 20X is an adjusting event after the end
of the reporting period as per Ind AS 10, Events after the End of the Reporting Period. It provides evidence of
a manufacturing defect in inventories held on 3lst March 20XI.

Category 3—defective goods manufactured in 20X1-20X2

At3] March 20X| the entity did not have a present obligation to make any defective goods that it might
manufacture in the future. Accordingly, at 31 March 20X| the entity should not recognise a provision in
respect of the defective goods manufactured in 20X1-20X2.

For this category, the detection of the manufacturing defect in April 20X is a non-adjusting event after the
end of the reporting period as per Ind AS 10, Events after the End of the Reporting Period.
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MTPs QUESTIONS

Q6 (March 19)

During the year, QA Ltd. delivered manufactured products to customer K. The products were faulty and on Ist

October, 2016 customer K commenced legal action against the Company claiming damages in respect of losses

due to the supply of faulty products. Upon investigating the matter, QA Ltd. discovered that the products were

faulty due to defective raw material procured from supplier F. Therefore, on Ist December, 2016, the Company

commenced legal action against F claiming damages in respect of the supply of defective raw materials.

QA Ltd. has estimated that its probability of success of both legal actions, the action of K against QA Ltd.

and action of QA Ltd. against F, is very high.

On Ist October, 2016, QA Ltd. estimated that the damages it would have to pay K would be Rs. S crores. This

estimate was revised to Rs. S.2 crores as on 3lst March, 2017 and Rs. $.25 crores as at 1Sth May, 2017. This

case was eventually settled on Ist June, 2017, when the Company paid damages of Rs. S.3 crores to K.

On Ist December, 2016, QA Ltd. had estimated that it would receive damages of Rs. 3.5 crores from F. This

estimate was revised to Rs. 3.6 crores as at 3lst March, 2017 and Rs. 3.7 crores as on ISth May, 2017. This

case was eventually settled on Ist June, 2017 when F paid Rs. 3.75 crores to QA Ltd. QA Ltd. had, in its

financial statements for the year ended 3lst March, 2017, provided Rs. 3.6 crores as the financial statements

were approved by the Board of Directors on 26th April, 2017.

G) Whether the Company is required to make provision for the claim from customer K as per applicable Ind
AS? If yes, please give the rationale for the same.

Gii) If the answer to (a) above is yes, what is the entry to be passed in the books of account as on 3lst

March, 20177 Give brief reasoning for your choice.

A P&L Alc Dr. S.2 Cr.
To Current Liab. Alc S.2 Cr.

B P&L Alc Dr. $.3 Cr.
To Non-Current Liab. A/c S.3 Cr.

C P&L Alc Dr. $.25 Cr.
To Current Liab. A/c S.3 Cr.

Giii) What will be the accounting treatment of the action of QA Ltd. against supplier F as per applicable Ind
AS?

Solution

. Yes, QA Ltd. is required to make provision for the claim from customer K as per Ind AS 37 since the claim
is a present obligation as a result of delivery of faulty goods manufactured. Also, it is probable that an
outflow of resources embodying economic benefits will be required to settle the obligations. Further, a
reliable estimate of Rs. $.2 crore can be made of the amount of the obligation while preparing the

financial statements as on 3lst March, 2017.

2. Option (A): Statement of Profit and Loss Alc Dr. Rs. §.2 crore
To Current Liability A/c Rs. §.2 crore

3. As per Ind AS 37, QA Ltd. shall not recognise a contingent asset. Here the probability of success of legal
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action is very high but there is no concrete evidence which makes the inflow virtually certain. Hence, it

will be considered as a contingent asset only and shall not be recognized.

Q7. (Oct. 20 — 4 Marks)

An entity engaged in the automobile sector has assessed the impact of COVID-19 outbreak on its future

viability of business model. Senior Management has identified the need for restructuring some of its business
activities and retrenching its employees in many areas. Senior Management is drawing up a plan for the
consideration of the Board of Directors in their meeting scheduled in May 2020, which is subsequent to the
reporting date of the current financial year ie. 31 March 2020. Can the entity recognise provisions for

restructuring costs in the financial statements of the current year ie. 2019-2020?

SOLUTION

In accordance with Ind AS 37, ‘Provisions, Contingent Liabilities and Contingent Assets’, a constructive
obligation to restructure arises only when an entity has detailed formal plan for restructuring identifying
the business or part of business concerned; the principal locations affected; the location, function, and
approximate number of employees who will be compensated for terminating their services; the expenditures
that will be undertaken; and when the plan will be implemented; and has raised a valid expectation in
those affected that it will carry out the restructuring by starting to implement that plan or announcing its
main features to those affected by it.

Further, Ind AS 37 provides that a management or board decision to restructure taken before the end of the
reporting period does not give rise to a constructive obligation at the end of the reporting period unless the
entity has, before the end of the reporting period

(a) started to implement the restructuring plan; or

(b) announced the main features of the restructuring plan to those affected by it in a sufficiently specific

manner to raise a valid expectation in them that the entity will carry out the restructuring.

In the given case, since COVID-19 pandemic impact started during March 2020, it is likely that the senior
management started drawing up the plan for restructuring some of its business activities after the end of
the reporting period, i.e., 2019-2020. If that be so, as per Ind AS 37, the management decisions subsequent
to reporting date do not give rise to constructive obligation as of reporting date and no  provision is
required for restructuring costs as at 3I** March 2020.

In this regard, paragraph 75 of Ind AS 37 provides that if an entity starts to implement a restructuring plan,
or announces its main features to those affected, only after the reporting period, disclosure is required under
Ind AS 10, Events after the Reporting Period, if the restructuring is material and non-disclosure could influence

the economic decisions that users make on the basis of the financial statements.
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QUESTIONS FROM PAST EXAM PAPERS

Q3. (Nov. 18 — 4 Marks)

Sun Limited has entered into a binding agreement with Moon Limited to buy a custom-made machine for
Rs4,00,000. At the end of 2017-18, before delivery of the machine, Sun Limited had to change its method of

production. The new method will not require the machine ordered which is to be scrapped after delivery. The

expected scrap value is nil. Given that the asset is yet to be delivered, should any liability be recognized for

the potential loss? If so, give reasons for the same, the amount of liability as well as the accounting entry.
SOLUTION

As per Ind AS 37, Executory contracts are contracts under which

% neither party has performed any of its obligations; or

% both parties have partially performed their obligations to an equal extent.

The contract entered by Sun Ltd. is an executory contract, since the delivery has not yet taken place.

Ind AS 37 is applied to executory contracts only if they are onerous.

Ind AS 37 defines an onerous contract as a contract in which the unavoidable costs of meeting the obligations

under the contract exceed the economic benefits expected to be received under it.

As per the facts given in the question, Sun Ltd. will not require the machine ordered. However, since it is a
binding agreement, the entity cannot exit / cancel the agreement. Further, Sun Ltd. has to scrap the machine
after delivery at nil scrap value.

These circumstances do indicate that the agreement/ contract is an onerous contract. Therefore, a provision
should be made for the onerous element of Rs 4,00,000 i.e. the full cost of the machine.

Rs Rs
Onerous Contract Provision Expense A/c Dr. 9,00,000
To Provision for Onerous Contract Liability A/c 4,00,000

(Being asset to be received due to binding agreement recognized)

Profit and Loss Account (Loss due to onerous contract) Dr. 4,00,000
To Onerous Contract Provision Expense A/c 4,00,000

(Being loss due to onerous contract recognized and asset

derecognsied)
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